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#include <iostream>
#include <cstdio>
#include <cstdlib>
#include <ctime>

using namespace std;
void Massiv_Generator(int ms[], int razmer)
{
int i=0;
while(i<razmer)
{
msl[i]=rand()%?9;
i=i+1;
}
}
void printmass(int ms[], int razmer)
{
int i=0;
while(i<razmer)
{
printf("%d ", ms[i]);
i=i+1;
}
printf("\n");
¥

int Repeated_elements(int ms[], int razmer, int param)

{

int result1=0;
int i=0;
while(i<razmer)
{
if(ms[i]==param)
{

result1=result1+1;

}

i=i+1;

}
return result1;

¥

int main()

{
srand(time(NULL));
int ms[20]={};
Massiv_Generator(ms, 20);
printmass(ms, 20);
int s1=0;
s1=Repeated_elements(ms, 20, 1);
int s2=0;
s2=Repeated_elements(ms, 20, 2);
int s3=0;
s3=Repeated_elements(ms, 20, 3);
int s4=0;
s4=Repeated_elements(ms, 20, 4);
int s5=0;
s5=Repeated_elements(ms, 20, 5);
int s6=0;
s6=Repeated_elements(ms, 20, 6);
int s7=0;
s7=Repeated_elements(ms, 20, 7);
int s8=0;
s8=Repeated_elements(ms, 20, 8);
int s9=0;
s9=Repeated_elements(ms, 20, 9);

printf("%d %d %d %d %d %d %d %d %d\n", s1, s2, s3, s4, s5, s6, s7, s8, s9);

#include <iostream>
#include <cstdio>
#include <cstdlib>
#include <ctime>
#define SIZE 5000

using namespace std;
void Massiv_Generator(int ms[], int razmer)
{
int i=0;
while(i<razmer)
{
msl[i]=rand()%9+1;
i=i+1;
Y
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void printmass(int msJ], int razmer)
{
int i=0;
while(i<razmer)
{
printf("%d ", ms[i]);
i=i+1;
Y
printf("\n");
¥
void Repeated_elements(int ms|[], int razmer, int msresult[])
{
int i=0;
while(i<razmer)
{
msresult[msJi]-1]+=1;
i=i+1;
Y
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int main()
{
srand(time(NULL));
int msresult[9]={};
int ms[SIZE]={};
Massiv_Generator(ms, SIZE);
printmass(ms, SIZE);
Repeated_elements(ms, SIZE, msresult);
printmass(msresult, 9);

#include <iostream>
#include <cstdio>
#include <cstdlib>
#include <ctime>
#define SIZE 400000000

using namespace std;
void Massiv_Generator(int ms[], int razmer)
{
int i=0;
while(i<razmer)
{
msl[i]=rand()%9+1;
i=i+1;
}
}
void printmass(int msJ], int razmer)
{
int i=0;
while(i<razmer)
{
printf("%d ", msJi]);
i=i+1;
}
printf("\n");
}
void Repeated_elements(int ms[], int razmer, int msresult[])
{
int i=0;
while(i<razmer)
{
msresult[ms]i]-1]+=1;
i=i+1;
}
}
int ms[SIZE]={};
int main()
{
srand(time(NULL));
int msresult[9]={};
Massiv_Generator(ms, SIZE);
/lprintmass(ms, SIZE);
Repeated_elements(ms, SIZE, msresult);
printmass(msresult, 9);



